[bookmark: _GoBack]Multi-step word challenges.
You might find it helpful to illustrate the challenge using simple pictures. This will help you to ‘see’ the challenge.
Example – Teabags come in packs of 40. Five packs are put in a box. How many teabags are there in 4 boxes?
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Five packs in a box. There are 5 lots of 40 teabags in a box. This makes 200 teabags.
Now we have 4 boxes. This means we have 4 lots of 200 teabags which makes 800 teabags.

Try these remembering to draw things to help you.
a) Six cans of soup are put in a tray. There are 12 trays in a box. How many cans of soup are there in 5 boxes?
b) Seeds. A packet contains 45 seeds. Five packets are put in a box. How many seeds are there in 4 boxes?
c) A train has 217 people on board. (Don’t draw 217 people!) At the next station, 58 get off and 87 get on. How many people are on the train now?
d) Bob has £7.82 and Jill has £10.12. They add their money together and share it between themselves and their two siblings, Jen and Bill. How much will each person get?
e) A box contains 80 apples. They are packed into bags of 6. How many apples will be left over?
